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2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
5 Al 2,155,270 1,377,767 777,503 56.43%
ALY 200,000 100,000 100,000 100.00%
HWegs 1,955,270 1,277,767 677,503 53.02%
Y2 ZH 0 0 0 0.00%
getssdd 1,055,270 1,277,767 677,503 53.02%
Ha -=8 1,955,270 1,277,767 677,503 53.02%
Hegs(Fasx4) 1,055,270 1,277,767 677,503 53.02%
SEINS(HELUSHTIISELSA) 1,955,270 1,277,767 677,503 53.02%
At = Xl 200,000 100,000 100,000 100.00%
lzdge2d 200,000 100,000 100,000 100.00%
=) =HEEH 200,000 100,000 100,000 100.00%
HNASES HESFEXF (HESLHEXFIZS 200,000 100,000 100,000 100.00%




